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Act I 

 “Life as Usual” is the royal court of 12th century England.  

a)  Marion meets Robin Hood. 

b)  Marion wants nothing to do with Robin Hood. 

c)  Marion is taken to Robin Hood’s hideout in Sherwood Forest.  Robin acts as her mentor to orient her 

to the commoner’s world and the problems caused by Prince John. 

Act II 

a) The first obstacle:   Marion sees Robin’s good intentions and loyalty to the king and the people of 

England.  She wrestles with her previous loyalty to Sir Guy and Prince John, and even though she must 

return to the castle, she wants to help Robin’s cause. 

b) The second obstacle:   Robin is arrested at the archery contest and sentenced to be hanged. 

c) The third obstacle:   Marian is caught spying for Robin. 

Act III 

a)  King Richard returns to England, which means that Marion is no longer seen as an enemy, but rather     

is a welcome guest in the castle. 

b)  Marian is no longer loyal to Prince John nor Sir Guy. 

c)  Robin and Marion are given the king’s blessing for marriage. 

 

 

 

 

 


